1999 12 1 45

( 735100)

’ b:1/mnj;j;hj

m —— , N ——
’ 1 ,bj_ I
2
) 1
' (mgh)
1 2 3 4 5
) 1 0.0035 0.0032 0.0051 0.0032 0.0045
2 0.0022 0.0043 0.0040 0.0035 0.0038
1 , m=5,n=2
4 : ; b =0.0037
1.1.2 (Sus)
1 SNb:’\/:Zj:Z(hj' bi)/m(n- 1)
_ A 2
’ SNb—’\/(nzbij' zhl'ZbIZ/m
’ = 0.00068 (mg/L)
1.1.3 (L)
' ' , 95 %,
) 5 20
, 1 L =2./2Sw
1.1 : f — gf=m(n-
1.1.1 (b) 1 ,t — 0.05( ),
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fot, 4 =2.571 2 . b=
L =2./2x2.571x0. 00068 0.022,2=0.0051
=0. 0049 (mg/L) 5
y =0.022x +0. 0051
0.0049 mglL 2.2
2
2 , r 2
' , 1> 120,999
, - (2 xy- ¥ x3y/n)
, JIX- (300 Iy - (Iy)¥n
: =0.9990
: Xy :
2.2.2 a
2 0
pgm) , . a#0 t
1 1.00 0. 025 , a 0 ,
2 2.00 0.049
3 6.00 0.132 ' !
4 10. 00 0.231 , .
5 20.00 0. 445
6 0.00 0.c58 t=|a-0/s M/n+ 3%/ 3x- (37
L e
0.029 0.027, s=J1- ) ¥ - (3y)%n/(n-2)
0. 005 =0.0039
2.1 t =0.72
, : 0.05, t
y=a+ bx t(0.05,7 - 2) 2.57 >
b=(nYxy- Yx¥y)/ n¥x - (¥x° 0.72, ,
a=y- bx :
a— b—— ,n—



y1 =0.029 - 0.005 =0. 024

y, =0. 027 - 0.005 = 0. 022 3.1
’ ;:_::_T:“Z)(i
x.=(y1- a)/b=0.86( Q) ;
%= (y:- 8)/b=0.77(9) =/ $x- (5x)%/n /(n- 1)
X= (% +%)/2=0.810¢) OV = s/x- 100 %
251, - - x 100 %
0. 81/25 = 0. 032 (mg/L) 3
X ,n ——
oV —
3.2
( 3) :
' (W95  142) 0.175 mglL ,
+0.017, )
6
3
x; (mg/L) x; (mg/L) X; (mg/L) s o
1 0.173 4 0.172
2 0.178 5 0.177 0.173 0034 19%%  9.0%
3 0.170 6 0.170
( 4) ,
4.1
, x( ) =0.009,
S ( ) =0.003,
4 ua ( ) =x+3S,=0.018,
No x N x MNo x No X UWL ( ) =X +2S, =0.015,
1 0005 6 0014 11 0.008 16 0.005 UAL ( ) =X+ S =0.012,
2 0007 7 0012 12 0.010 17 0.008 a( ) =0.009,
3 0015 8 0013 13 0.007 18 0.009 UAL ( ) =x- S, =0.006,
4 0010 9 0012 14 0.011 19 0.010 UWL ( ) =X-2S, =0.003,
5 0010 10 0.006 15 0.010 20 0.007 ua ( ) =X- 35, =0
4.2
1
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348 (mg/L)

4.3

4

6

8
i

1012 1416 1820
ZWH(n)

(1)

)

&)

(4)

1299. 285

,1989. 291
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